THS K SHFPEOME

I — = E MY T EOBE
SFEETELE | PRAEETEE | Z5IHEE | saEEms
(A) (B) UL I
+M +M +M %
— I EE 37,264,505 37,317,813 A 53,308 A 0.1
GE < — 24 (36,526,975) | (36,575,845) (A48,870) (A0.1)

MBI AN—Z3%, HF 247 HZWNKE THETEIR - EEHEERE] (TR FEBR LRV ZL O,

SM2E7 AEMKE THENEIR - BEHEERE] (TROIFEX

X5y BB B FNAERE 75| HETREA
HIEM 17 21 A 4
HEE (TH) 737, 530 741, 968 A 4,438
(HER)
[ 5 A0 T2 6 0 ]
X4y ST THAR | RieE R S AITAE FE {8
il 8,002,751 THi 273,778 T 3.5 %
T B BLAL A4 1,647,000 T4 157,000 T4 10.5 %
6 A RFEAIEL Y 887,000 T4 84,000 T 10.5 %
7 AZ B 12,000,000 T 100,000 T4 0.8 %
[ JEE S HH 4 5,184,393 THI A 522,937 T N 9.2 %
VRS 4 3,268,408 T 376,071 TH 13.0 %
YN 1,201,999 T4 A 367,642 T A 23.4 %
5, MBI L S A 4 438,267 T A 81,990 TH A 15.8 %
it 2,679,400 T A 45,400 T A 1.7 %
[ B H o ETx2 6 0 ]
Xy (P& 51) SERIEESYE g X SRR BEHE TR SFRITARFE
NG 5,638,460 T A 233,889 T A 4.0 %
5t RIET Y A TR AR 5,535,636 TH 128,078 T4 2.4 %
B 7,987,417 T A 57,287 TH A 0.7 %
INEE 4,243,048 TH A 103,294 TH A 2.4 %
TR R 4,098,476 T 418,904 T 11.4 %
SEE I F 391,830 TH A 161,044 T A 29.1 %
W2 7,130,594 TH 158,578 T4 2.3 %
i Bh# 5 2,928,380 T 84,524 T 3.0 %
4 3,395,459 T 45,174 TH 1.3 %

_‘I_




(mA]

(BAZ: TH, %)

. TRSEE LY TH TRAEESYTH B i =
§ A HERY L B MRk L C=A—B |[C/BX100
1 sl 8,002,751 21.5 7,728,973 20.7 273,778 3.5
2 HiHRELBL 597,488 1.6 597,738 1.6 A 250 A 0.0
3 FITFEIRAS 4 1,000 0.0 4,000 0.0 A\ 3,000 A\ 75.0
4 Bl FIRAT 4 16,000 0.0 16,000 0.0 0 0.0
5 BRAEEREEITE RIS & 18,000 0.0 25,000 0.1 A\ 7,000 A 28.0
6 IEANFEBIL A 110,000 0.3 100,000 0.3 10,000 10.0
T MG IEE B 1,647,000 4.4 1,490,000 4.0 157,000 10.5
SO IRBEA AL 7y 887,000 2.4 803,000 2.2 84,000 10.5
8 A/NTIGFI BT 4 20,000 0.1 19,000 0.1 1,000 5.3
9 HBEREBIELRTE 24,000 0.1 34,000 0.1 A 10,0000 A 29.4
10 Hu 7 Fe 5l A £+ 4 64,736 0.2 48,000 0.1 16,736 34.9
11 H5 ARl 12,000,000 32.2 11,900,000 31.9 100,000 0.8
12 7@ R R FERIZ A 4 9,000 0.0 9,000 0.0 0 0.0
13 Sy R OVE 4 58,555 0.2 54,232 0.1 4,323 8.0
14 FPEE R OVF k) 606,644 1.6 637,810 1.7 A 31,166 AN 4.9
15 [E#EST 48 5,184,393 13.9 5,707,330 15.3 A 522,937 A 9.2
16 WS H4 3,268,408 8.8 2,892,337 7.8 376,071 13.0
17 JAPEILA 97,762 0.3 97,156 0.3 606 0.6
18 A< 502,401 1.3 502,401 1.3 0 0.0
19 MeA4 1,201,999 3.2 1,569,641 4.2 A 367,642 A 23.4
26 I B B A S 438,267 1.2 520,257 1.4 A 81,990 A 15.8
20 bl 300,000 0.8 300,000 0.8 0 0.0
21 FEILA 854,968 2.3 860,395 2.3 A\ 5,427 A 0.6
22 Thfk 2,679,400 7.2 2,724,800 7.3 A 45,400 A 1.7
G 37,264,505 100.0 37,317,813 100.0 A 53,308 AN 0.1




(i)

(A2 M, %)

5 NS ) T DFNALE LY )T HER fiR
A R B TR EE C=A—B |[C/BX100
1 et 254,643 0.7 254,185 0.7 458 0.2
2 B 4,208,315 11.3 4,595,366 12.3 A\ 387,051 A 8.4
3 |RA# 13,189,811 35.4 12,894,888| 34.6 294,923 2.3
4 A 3,580,178 9.6 3,411,670 9.1 168,508 4.9
5 (JrE#E 69,000 0.2 70,489 0.2 A 1,489 A 2.1
6 |JEMIKPESER 2,028,604 5.5 1,814,273 4.9 214,331 11.8
7 [PLE 829,175 2.2 840,570 2.3 A 11,395 A 1.4
8 |LAZE 3,353,561 9.0 3,553,214 9.5 A\ 199,653 A 5.6
9 [HBLE 1,057,772 2.8 1,003,210 2.7 54,562 5.4
10 |BEE 3,990,416 10.7 3,926,800 10.5 63,616 1.6
11 |KEEIAE 406,197 1.1 552,874 1.5 A 146,677 A 26.5
12 | AfEE 4,243,048 11.4 4,346,342 11.6 A 103,294 A 2.4
13 [F&3HI4® 3,785 0.0 3,932 0.0 A 147 A 3.7
14 | % 50,000 0.1 50,000 0.1 0 0.0
G 37,264,505 100.0 37,317,813 100.0 A 53,308 A 0.1
(MR AR L) (A7 T, %)
X 4 BB Y ) A AAEE Y )T A HER HES
A MRk B (D329 C=A—B [C/BX100
1 BEORE 17,868,925 48.0 18,263,395 48.9 A\ 394,470 N 2.2
N 5,638,460 15.1 5,872,349  15.7 A 233,889 A 4.0
BB A 4,319,528 11.6 4,182,274 11.2 137,254 3.3
D5 IR Y 102,824 0.3 464,791 1.2 A 361,967 A T77.9
E7N Ik 7,987,417 21.4 8,044,704 21.6 A\ 57,287 AN 0.7
INEE 4,243,048 11.4 4,346,342 11.6 A 103,294 A 2.4
BI04 (i EAHHERR) 4,165,712 11.2 4,260,481 11.4 A\ 94,769 N 2.2
Sl LGRSy 5,114 0.0 0 0.0 5,114 e
2 ERRE 4,490,306 12.0 4,232,446 11.4 257,860 6.1
S E 4,098,476 11.0 3,679,572 9.9 418,904 11.4
KEBIRFESE 391,830 1.1 552,874 1.5 A 161,044 A 29.1
3 ZOMMORE 14,905,274 40.0 14,821,972  39.7 83,302 0.6
W 7,130,594 19.1 6,972,016 18.7 158,578 2.3
MEFFIIE B 359,265 1.0 436,665 1.2 A 77,4001 A 17.7
HiBh % 2,928,380 7.9 2,843,856 7.6 84,524 3.0
FENL 4 514,167 1.4 508,758 1.3 5,409 1.1
BE RO E® 290,795 0.8 406,970 1.1 A 116,175 A 28.5
B4 236,614 0.6 253,422 0.7 A 16,808 A 6.6
o 4 3,395,459 9.1 3,350,285 9.0 45,174 1.3
Z DA 50,000 0.1 50,000 0.1 0 0.0
AR 37,264,505 100.0 37,317,813 100.0 A 53,308 A 0.1

_3_




(h % BAREM)

1= H#H
AR5 HES T A 8,002,751 T4
AR A L TR 7,728,973 +H
725 | HEIsEE 273,778 T (3.5% D)
(EAZ: TH)
B ]
7 = : AN . )
= T PR I sy 8
AE RIARR| UNER | TR | RIFEER®%)
(LW B | 2,957,485] 1. B & #| 2,298,330 99.13%| 2,278,334 5.9
¥ o2& H 104,958 99.13%| 104,044 A 0.3
fli A BB AT 45 15,000 100% 15,000 0.0
Eia 2,418,288 2,397,378 5.5 18,513| 2,415,891
2. %N B E 351,859| 99.70%| 350,804 61.4
T ¥ o2& H 190,620 99.32%| 189,324 A 0.1
Eia 542,479 540,128 32.8 1,466 541,594
(2) & & pEB 3,796,090 1. + il 1,068,505 98.72%| 1,054,828 A 0.8
== 0
= |F 1,736,051 98.72%| 1,713,829 0.1
7 L
HERL & #1 & pE 947,498| 99.15%| 939,470 A 5.3
Eia 3,752,054 3,708,127 A 1.6 38,253| 3,746,380
2. EHEELEIE
TRTR A4 % 49,710 100% 49,710 A 2.7 0 49,710
[6) IR
@) B ByEPL 277,259 1. B T M RE F 16,670 100% 16,670 A 1.8 0 16,670
2. f# Al B 261,105| 98.96%| 258,389 2.7 2,200 260,589
@WH =B 494,934 1. & o~ X = B 494,934 100%| 494,934 9.8 0| 494,934
GA & B 32,526| 1. & B 32,526 100% 32,526 31.0 0 32,526
(6) #h i 2t im B 444,457] 1. + H 200,984| 98.72%| 198,411 A 0.7
E IS T P .
S | = 244,704 98.72%| 241,571 3.4
2 445,688 439,982 1.5 4,475 444,457




(& BEFRER

225k HiE

N5 AR ST
R4S TR
725 | M8 J8UEA

2,679,400 T~
2,724,800 T
A 45,400 T (1.7% DJk)

118 & (AL T, %)
i
g A wf@ R ekl RURTER 1 =
1. # B EATES s E G - AT EEFESEFZE (HADHRFIE)
82,100 20,400 95| 70 21,560 X 0.95 = 20,400
N2 R FE 520 /N B R Skt 3R S 2418 & DR RF B
RAFFLEE 3,500 95| 70| fEER 3,788 X 0.95 = 3,500
OB xR F O E LT T RS RIE TR
58,200 1/2 95| 70| w1500 | (27,618 - 10,114) X 0.95 = 16,600
N I s G =
95| 70 (51,453 - 7631) X 095 = 41,600
2. R 4 ([EXEEEEESEME AR REEHESE(T4E
475,300 3,500 0 3,500
OB kT R F % IANLEE R B FEEHIELR)
471,800 95| 70| -pg 64,882 X  0.95 = 61,600
AR INSLECE R B T 2
95| 70 128,154 X 095 = 121,700
E—— R R XA i SR AR 53 R i T i = 2
EHA 95| 70 (339,444 -  35700) X 0.95 = 288,500
3. M E ME|B Bk A R T OE & e | R
175,600 116,000 95| 70 10,217 X 095 = 9,700
sy | BRI AR S SR I Gl AR TR0k 18 I MU ASE)
1/3 95|  70|7 = (114,728 - 2,742 ) X 095 = 106,300
K £ B i — A FERFH M A
47,100 100/ 50 47,125 X 1.00 = 47,100
— RO | ERIG B 5 5 T S (e 2 MO A4
12,500 100 ofF m= 12,580 X 1.00 = 12,500
4. BEWOKEEREE R B 5t K F ¥ (E R 2K FIfERR R 2 A B L 3
95,700 65,100 95| 70 (21,375 - 4,275) X 095 = 16,200
U o L R R B B (i 2 (B X 24)
95| 70 (12,000 - 4,000) X 095 = 7,600
Tk 2 KRR % R A SR S 2
69% 95| 70 ( 7,891 - 6,233)X 095 = 1,500
SRR (R e 2 (R LX)
69% 95| 70 (10,000 - 7,900 ) X 0.95 = 1,900
— R R R 2 (P LX)
69% 95| 70 ( 8,000 - 6,320) X 095 = 1,500
FEHBFE SR O 3 (RN AR VE iR A ) B 4t (X
4% 95| 70 (27,500 - 21,725)X 095 = 5,400
WELUED R B IR E kSR R (i =2 (OQIE LX)
95| 70 ( 9,975 - 4,275) X 095 = 5,400
SNCE Y SN NSRS E A C AT I i )
95| 70 (35000 - 15,000)X 095 = 19,000
VLI EE O < Y HEE R
95| 70 2,000 X 095 = 1,900
A JSERGEERS LA iR
95| 70 5000 X 095 = 4,700




118 & (B T, %)
B ]
K ZR AR -
A A s LR s i =
NE N VR B 58 B R 25 I 7 0 A 2 (T2 oD 2 i)
30,600 90 45 - 3,166 X 0.90 = 2,800
VBB 56 5 DA 4 3 (723D e i)
90 45 11,000 X 0.90 = 9,900
| MBS R 2
AR BRR
5/10 | 1/10 90 20 ( 49,900 - 29,940 ) X 0.90 = 17,900
5. m T [h|BUC AR TR e | SPRIRV AT SE IR & DRI D)
37,100 37,100 95 70 39,147 X 0.95 = 37,100
6. t K | kR F . i) el S
1,001,600 57,000 95 80 60,000 X 0.95 = 57,000
ERPE I =2 28.5 SEEPIREEE
103,700 100(~57.0 - 102,400 X 1.00 = 102,400
28.5 T ) s 92
100[~57.0 1,300 X 1.00 = 1,300
SIS S R @A L AR R
473,800] 52.0% 95 70 ( 1,000 - 520 )X 0.95 = 400
AR PR/ NTUE AR R
52.0% 95 70 ( 20,000 - 9,880 ) X 0.95 = 9,600
HhEEAREN ZBRYHSR
52.0% 95 70 ( 50,000 - 26,000 ) X 0.95 = 22,800
B AR B F3E
57.2% 95 70 - ( 50,000 - 28,600 ) X 0.95 = 20,300
Mgt B 93¢
95 70 78,000 X 0.95 = 74,100
ERARZHERRE R br
57.2% 95 70 ( 83,000 - 47,476 ) X 0.95 = 33,800
EREAN 7 HE RS T 1am - R
EH 95 70 ( 40,150 - 23,199 ) X  0.95 = 16,100
b A T SR R 2
95 70 ( 178,700 - 32,250 ) X  0.95 = 139,100
LRI S
57.2% 95 70 ( 99,981 - 36,800 )X 0.95 = 60,000
- ZERALVE A AR S
57.2% 95 70 ( 208,845 - 117,028 ) X 0.95 = 87,200
N it s R AR A AL RS SR 3
50.0% 95 70 ( 22,100 - 11,050 ) X 0.95 = 10,400
RS G e R — W17 HoAR LA e (IHE PR BIME)
213,400 95 70 73,777 X 0.95 = 70,000
BN WA R (R DR BIE)
52.0% 95 70 ( 10,000 - 5,200 ) X 0.95 = 4,500
ERAN ZHESRE R b V(A DFHR 1)
57.2% 95 70 ( 175,252 - 100,244 ) X  0.95 = 71,200
L ERALN ZHEFHE G- EE- R (E & O R BI6E)
95 70 26,100 X 0.95 = 24,700
HiIsl A T R S (1H A DR R (1 £8)
95 70 29,300 X 0.95 = 27,800
YL PR OB R i HE A (1B A DFRR B6E)
95 70 16,000 X 0.95 = 15,200




118 HfE (BAL: M. %)
7 B
A A s LR s i =
B2 R S IE i W HEAT TR T A E (2R )
54,100 100 70| 26,500 X 1.00 = 26,500
e A R EE X SR
w4 | 100] 70 ( 50,000 — 22,400 )X 1.00 = 27,600
K P OEE i O3 s KRR PR 52 (10 A OB 1)
41,800 95| 70 [ERLER 44,000 X 0.95 = 41,800
oW F ¥ — WA T TR T A A () (IR & PR pIE)
28,500 95| 70 30,000 X 0.95 = 28,500
/NN e oy DN M AV EE i 2 (IR A DR R E)
24,400 95| 70 » 15,310 X 0.95 = 14,500
A TEE AR . R
2 [ it A A S 3 (IR A OF e ()
95| 70 10,500 X 0.95 = 9,900
N TR R — ZFnE L 2 KRR
4,900 5/10 100 0 ( 9,900 - 4,950 )X 1.00 = 4,900
7. B fEH[ria=TamBires— piss- gt | T2 =T A EBI B2 — R A O BIE)
106,700|@m % %4 37,100 95| 70| EHER 39,061 X 0.95 = 37,100
577 558 3% i F i 5 3 1 WHEIA7 H B EE 3B A DR EIE)
65,200 95| 70 43,925 X 0.95 = 41,700
iss- st | /NEEN IR T IEAEE(R A DHRFRIE)
95| 70| EHER 6,937 X  0.95 = 6,500
1/2 [ ok Al % i 9 2E (B A DR R BITR)
LR 95| 70 ( 23,400 - 5486 ) % 0.95 = 17,000
BRZH S - P A B35 - fekls VHBHAR—AX T — i (EE3E
4,400 1o0| 70| EER 4,449 X 1.00 = 4,400
8. #H F E|E B R K P e V- S e = 2
584,700 278,100 95| 70 112,510 X  0.95 = 106,800
o e e
HERBR
1/3 95| 70 ( 69,120 - 6,803 )X 095 = 59,200
F SR T B i 3
1/3 95| 70 (125,065 - 8,104 )X 095 = 111,100
e g PR HA R AR AR R 3
95| 70 1,100 X 095 = 1,000
i % S A2 B % (e e T RSO E & BE s i 25 R i 15 322 (IR & DR B 1E)
e 130,900 95| 70 137,830 X 0.95 = 130,900
R M % T 0 o PRTR RE Mk ks =2 (10 A DRk B
114,200 95| 70| WHR | (150,249 - 30,000 ) X 0.95 = 114,200
S T T S e FIAG R — KB 58 8 2 (IH & DR IE)
61,500 95| 70 R 64,816 X  0.95 = 61,500
9. % F N AL R OV T MG R - KB S8 E A TR SR 23 24F 55)
600[5% = ® 1B &= % % fiax 90|  95|mmmam| (303,600 - 302,870 ) X  0.90 = 600
600 99.3%




118 W& (HA7: T, %)
7 ]
I ek wi gl fE B g 1
0. FE B R Be|Ee w0 Bk %
xR ME 100| MEGR Fifh g B Okt SR A 120,000
120,000 120,000
MEEYTITE YEELTITE 5| EEE

2o et 5 i I A R e U 2 0 58,700 A\ 58,700
B & PRfrplEEE 778,000 180,400 597,600
KEFREELEMHS 3,500 3,500 0
ABEIEY P 12,500 29,400 A 16,900
NI 30,600 6,400 24,200
BN ES LT EE 103,700 104,200 A 500
RABRIESILFERE 54,100 48,500 5,600
ANEEERRTEE 4,900 119,800 A 114,900
BR AL - W R 4,400 4,000 400
‘% BN 600 140,900 A\ 140,300
I il R 57,000 38,000 19,000
B TR 1,463,000 1,631,000 A\ 168,000
AEFELHHERH 47,100 0 47,100
B IFe B G o 1 120,000 360,000 A\ 240,000
1 2,679,400 2,724,800 A 45,400




()

M HBEBRMNE FRERF(ES) BHETONRD
PR 4 B E T DA RERRICE T D%

WITTHE BT (FERREIRESY)

(e th)

FPRBE 4 BRE 2 Ot PR IR R IS DR

(Hh2PRAE 4 fEE € O IRERRIC 2 D ]

887,000 T4

12, 165,937 +H

(H47 . T1)
BHRINER
. ¥oE MR — & M R
B R OX Gy (S
T (B B
=] RS H 4 5 & ot |15y O T Z DA,
BB AT 4
R 1,330,026| 1,015,758 0 10, 000 20, 500 283, 768
B Ak 4,318, 718| 3,098, 583 0 23, 183 539, 000 657, 952
tf B 7w 4 371,971 141, 478 0 75 15, 500 214,918
I~
ii B O F owm kb 1,546, 817 245, 489 0 16, 954 86,400 1,197,974
B &= FH M Ak 2,075,166 1,469,714 0 30, 000 38, 700 536, 752
/I8 =t 9,642, 698| 5,971,022 0 80, 212 700, 100| 2,891, 364
= R f BE % R
wl C @ om0 672, 638 301, 222 0 0 77, 000 294, 416
PANN VAN = 2
EE f' %%égﬂjﬂ%z% &§ 1,172, 455 79, 000 0 0 73,600 1,019, 855
% B
N E 1, 845, 093 380, 222 0 0 150,600 1,314,271
3 977 386, 317 69, 649 0 44, 903 18, 300 253, 465
E§ /O I i) 213, 358 2,672 0 0 14, 200 196, 486
= .
e | HEOBE O i 78, 471 1,635 0 20, 000 3, 800 53, 036
A3 678, 146 73, 956 0 64, 903 36, 300 502, 987
& &t 12,165,937| 6, 425, 200 0 145, 115 887,000 4,708, 622
MEBEICIT, AMEPBEROFBEEZE £,




FR TR EIBL O EAER

() #BiFHERL 444, 457 T-H

(HA7 - )
T DM TRPIR
X5y L R E B TR — AR
ERHA | Hi5fE Zoftt [ HBiighEEL |  ZF o
AR R 1, 189, 183 173, 093 210, 500 1, 360 444, 457 359, 773
8k LTAH
4TH  HRTHIEEE
1H #HFIERSE 533, 775 765 130 294, 496 238, 384
- FAESEERNES
2H 1HREEL 352, 150 153, 828 175, 700 12, 502 10, 120
« K TEIEAR O
3H AREEHME 281, 802 18, 500 34, 800 1, 230 125, 602 101, 670
ANE N A VIR
48 NEERE 4, 700 2,597 2,103
o fE RN R T 2
5H fkkbHetEL 16, 756 9, 260 7,496
- AR L HEE RS
&t 1, 189, 183 173, 093 210, 500 1, 360 444, 457 359, 773
AGBLOFERAFR
(N AL 32, 526
(BT )
T DM TRPIR
X5y L R E B TR — AR
ERHA | Hi5fE Z D, N Z D,
BREE AR OB H 1, 116, 220 30, 607 47,100 75, 366 27, 081 936, 066
SLIRIR DR S L 943 27 916
YH B G R 25 DA 74, 386 5, 486 65, 200 104 3, 596
B i % o0 45 B 98, 751 778 2,755 95, 218
B DIER 111, 347 20, 330 2, 559 88, 458
&t 1,401, 647 36, 093 112, 300 96, 474 32,526| 1,124,254




0. 4RI EHR 4 HFEOWRI

(HAZ: T, %)

P AFNSAEE Y W) TR| B AT S ) TR H I fi =R
= =n
A B C=A—B C/B X100
[ RA R PRI RF Bl = B 8,284,230 8,433,193 A\ 148,963 A 1.8
W E i R AR = E 1,080,411 1,054,641 25,770 2.4
I ECR IR R R 7,408,680 7,400,722 7,958 0.1
IR RRRE 157,417 151,448 5,969 3.9
AR TR R F 165,972 127,938 38,034 29.7
FEHEE&HE RS 2,293 1,833 460 25.1
at 17,099,003 17,169,775 A\ 70,772 A 0.4
R D= H v
M. FAEEESHINLFTEORNR
(AL T, %)
P AFNSAEE Y W) TR| B AT S ) TR H I fi =R
= =n
A B C=A—B C/B X100
KiEFE (RN G 2,231,099 2,107,514 123,585 5.9
TOKIETFZE (NEARZE) S5 3,545,731 3,495,795 49,936 1.4

KPEBITHOWTL, IS S LB ARB S DA G




